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1.1 JLNEARNIES

1.V A any: ARG ER—A: SBE G NHE

2. 3+ E + exist: fAAE—A; HEAME—

3. sup B: #4E E Wb E5, B E ) E#ESE (supremum)
sup F' [F] I 2 9 25 A
(a). Vx € E,x <supFE;
(b). Ve > 0,dxg € E,sup E — ¢ < x.

4. inf B: B4 E KA, B E KRS (infimum)
inf E [A] I3 2 P 26
(a). Ve € E,x > inf F,
(b). Ve >0,dxp € F,xg <inf £+ ¢.

l. supFE =inf{u e R:u >z ,Vr € E};
2. inf E=sup{u e R:u < z,Vx € E}. &

B % E={1,3,5,8F = (—V3,7], N
supFE =8,infE=1,supF =m,inf F = —V3. B
1. sup £ = —inf(—FE);
2. inf F = —sup(—F);
KHH —E %5 E BARMES, B —E = {—c:cc E).

12 BMESHEMLESEHALR L

B AR PR IS SN AR o ) BB A IS L, T FLEUERE & Q %T*&Bﬁﬁﬁﬁfﬁl}ﬂ H. B an:
lim(l—}—%)" = ¢e;Vn € N,(1+%) € Q. He ¢ Q XWyVn € N,a, = Z% e Q H

n—00
m=1

ILm a, = %2 ¢ Q.
U SRR A R ZERCE E A SRS, FL T4 RS S A R, FRSIHE R R
ARSI R (0 S AR SR 5 6

R S M R VR () A BRI 4 T4

1. B AT R B

0 i R BRI

3. WEPRTELEHIAT G (Cauchy) HET;



1.3 2P AR FR a9 452 52 3L

4. PHIX 8] 5 5 2
5. FRPEIEE, B SR AT A e B
KON BTN K, ARFER R FERIRE S R ESLNE A,
R ABEERA 1.1.3 MESVE A B REN W, RUER 2B LS 7 42
B AKX B A SE IR T R KIS,

AE(F) ROGEZEHRE E LA E(T) HR sup E(inf E).

1.3 HHRRAFZFEX

BB {an} LLHEE o J9RIR, BHARE L F:
EX 1.2 (BHIRR)

T 43 {a,}, & Ve > 0,3IN € N*Vn > N #F |a, —a| < e &, W {a,} AFEKaA
IR, 1T A lim a, = a K a, — a(n — 00). .
AT 2 51 2 TR WSS, w0 4 W H 2 750 R B AR SR AFAE I E (22, BRI 2 Ak, W] BL
s T B o

st F#3 {a,}, AT AAEH:
1. Ve > 0,3IN € N*Vn > N #H |a, —a| < e &R x;

2. BAEFH M, 1£4F Ve > 0,3IN € N*,¥n > N #H |a, — a| < Me M o

FHL b, Pra S B, AR IR S e AR 2 S R B SEEEE R 2 A HAU
(I PR AELAE) FC Y.

1. Q XFH PR 2 AT A
2. H Q AR EA AR R AT DL SEEL,
3. H Q AR HIES B IR R B A S
4. HH Q AR FTA WSS, AT IR RS, 1RIFst 2 R, A2 A0,
B
X Ve € R, W o HFI/NIERRN: v = ag.aiaszas - -, WEHBES: ag, a0.a1,a0.a1az, -+ 4
n — oo B, HARBR A z. 5 « REEE, W ag.aras - - - a, 26 RNEEIEIA N, # o R TCHE,
M ag.arag - - - a, ETCPRATEH/NEL, WARIR 5 2 2B
AL = ag.aragas - - -, A=A a; HR—DEFE, ao BBEEE T, aragas - - /D
A e, o =3.1415926-- -, A ag = 3,01 = 1,as = 4,a3 = 1,a4 = 5,a5 = 9, a6 = 2, a7 =
6, -



1.4 MRG0 ASTE R AN

EIU\EB T = Qp.a10a20a3 - - - mi%jldj—‘/l\ﬁiu Tl = Qp, T2 = Ap.G1,T3 = Gg.A102,* * -, T}\E €T %ﬂ‘}}‘(
PRI, 2 x 2 {7, } WIIR, 1dh lim 7, = . HH z A5, ZEINRIX BAREIE © &
AN IR, A BREUE R TC A H 2 v 25 {7, WIARBR A2 e 1.

1.4 RERFEFANE R HEN

E¥ ) {a,} #A¥E (R LA L (T) K, 0 {a,} sk, B 1i_>m a, = sup a,(inf a,).

FOR A FAR IR A

WHI {a,} FREEF LR, R FELE {a,} FLHF. A supa, =8, W 8 =& {a,}
AL A

1.Vn € N,a, < f;

2.¥e > 0,3an, € {an}, 5 —¢c < ap,.

XEA {an} FFE, B Vn > ng,a, < ap, >B—6, Ba,>B<B+ec Bl |B—a, <c&
n > ng B & L.

B EX??, 8 Tim a, = = sup{a,}. B2, 2R BA T FHIRFE.

& &3 {a,}, {b,}, {cn} #HZ a, <b, <cp, lim a, = lim ¢, =a, W lim b, = a.
n—o0

n—oo n—oo

A lim a, = a < Ve >0,IN, € N*Vn > N, #H |a, —a| <e. = a—c<a, <ate X

n > N; ESZL’—FEOEEI

M lmc,=a=tiXe,IN, € N*Vn > Ny #H |c, —a| <e. = a—e<c,<a+te
kg > N, B8R

A N =max{N;, No}, WL n>NEHi,a—ec<a,<b,<c,<a+e, Bl |b, —a| <e BRI
HE X 2?2, li_)rn b, = a.
i 1.1 ?ﬁﬂna,oz, q,c1,c0 BT

1. % |q| < 1, UEBA Tim ag" = 0;

2. %a>0,M lim ar = 1;

n—oo
3. WEM lim /n = 1;
n—oo
4. % lim a, = a, lim b, = b, iEH lim (cia, + c2by,) = cra + cob. B1Z& 4R & B PRF TR

PREVEIEE &, FRILL R BRAVE M 1B,

1. (a). Y% ¢g=0FH, lim ag" = lim 0= 0;
n—oo n—o0
Ine

In|q|’

(b). B0<|g<1B, VO<e<1,#H|¢"-0/<e, AEnln|q| <Ilne, Bl n>



1.4 MRG0 ASTE R AN

AN Ine
ln|q|

48 ¥ g, hm aq" = 0,V|q| < 1.

In
J+1, &% n>NEHE,n>—

= |¢" — 0] <e, BF hmaq =0.
1|f1|

-1
2. (a). j:-la>llFlﬂL,DI'J0ﬂ>1,%(&5:1%—)\,1,)”\”CL:(1+)\n)”:1—|—n)\n—1—w)\2+

2! "
AT > A, 0 < N, <EEL lim g:0 7 3k 18 U |22, lim ar = 1.
n n—oo N
(b). %0<a<1a~t/—:>b:— MWb>1, 8 E—#F4 lim be =1, & lim av = 1.
n—oo n—oo
1
B RAEARE — 5 HRIEE — S, HXEAT lim oV :JL%W -
1 .
m = 1. EFIEH%:/]\% %ﬂiu’tfﬁé’] EA’I%T:EZ *ZU‘F(I:LI’]EQW 7%1
n— 00
IE A,
N A8 n n(n+1> 2
3. Y n > 20, c/ﬁ>1 W /m=14+ WA, >0 Hn=(14+\)"> 5 A2,
2 -
0< A\, < , A lim =0, @ EZEAEN??, lim /n=1.
n—1 n—oo | . — 1 n—00
4. @ lim a, = a = Ve > 0,IN; € N*, & n > N, B, |a, —a| < e. & limb, = b, &

n—o0 n—oo

F#Re>03IN, € N, 4Un> Ny B, |b, — b <e. A N =max{N;, No}, M%E n >N
Bt |a, —a| < e, |b, — b < &, N + Coby, — c1a — b = |ei(ay, — a) + ca(b, — b)] <
lc1(an, — a)| + |ca(by, — b)| < ( )e, Bl lim (cia, + coby,) = cra + cob.
E B # PR IR B, 5 EAEBH Ve > 0,3N 67}\?*0,0% n > N B, |a, —a| <e Rir. wREK
fIREIEH Ve > 0,AN € N*, ¥ n > N B, |a, —a| <c 2T UK. TUEE—TRE N
ft 4.7 #77:22.
O A PR B A R M 5, R BE R B PR R 2 L 2R M I, GoAR A B A 2 1
FH B BR A 2P 14 5T, AT AR 43 h 460K 22 BOME &t B A 2R PE 1 on. e 2 8. S8
a5 By, #EA SR
# Bl ex1.2:1(2)(4),3,4,5,6,8(5),15(1),19.




